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EZLED imia

(1) 35+-8= 4 H %)

(4) 43+-6= 7 HEV)

(7) 34=7= 4 HEV)

(10) 62+-8= 7 HE!

(1) 23+3=7 HFY

(16) 35+4= 8 HFV)

(19 78+8= 9 HxV)

(22) 26+9= 2 HFY)

(25) 57+6= 9 HFY)

(%) 37=5=7 HEV)

(31) 43=5= 8 HxE\)

(3) 51+-6= 8 HFY

(3 33=4= 8 Hx\)
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(2) 52+7=7 %Y 3

(56) 28+3= 9 HFH 1

(8) 49+5= 9 HE) 4

(1) 70=9= 7 HEl) 7

(1) 47+6=7 HEV 5

(1N 15+4= 3 H%F 3

() 30+4= 7 HEV) 2

(2) 15+-8=1 HFH 7

(26) 69+7= 9 HFEY 6

(29) 17+-9= 1 HFW 8

(32) 55+8= 6 HFW 7

(3) 62+7= 8 HFEY 6

() 69+8= 8 HFW 5

(4) 105+10= 10 %Y 5
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(8) 17+3=

(6) 49+-6=

(12) 40+6=

(15) 54-+-7=

(18) 39+-8=

(21) 52+-6=

(24) 78+-9=

(27) 29+6=

(3) 70+8=

(36) 73+-9=

(39) 71+9=
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5 HFEY 2

8 dH&EV 1

4 HEY 4

6 HEW 4

7 HEY 5

4 HFELY 7

8 HEY 4

8 HFEY 6

4 HEL 5

9 HFEL 7

8 HFEY 6

8 HFR
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